CHEMISTRY

BOOKS - MTG IIT JEE FOUNDATION

ATOMS, MOLECULES AND ATOMIC
STRUCTURE

lllustration

1. Calculate the molecular masses of

CHsCOOH



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_78V0uegViwP1

Given atomic masses C' = 12.0u, H = 1.0u
O = 16.0u, K = 39.0u, Mn = 55.0u

Fe = 56.0u, N = 14.0u

o Watch Video Solution

2. Calculate the molecular masses of
CeH1204

Given atomic masses C' = 12.0u, H = 1.0u
O = 16.0u, K = 39.0u, Mn = 55.0u

Fe = 56.0u, N = 14.0u

o Watch Video Solution



https://dl.doubtnut.com/l/_78V0uegViwP1
https://dl.doubtnut.com/l/_hIOAgFLUYQPs

3. Calculate the molecular masses of
KMnO,

Given atomic masses C' = 12.0u, H = 1.0u
O = 16.0u, K = 39.0u, Mn = 55.0u

Fe = 56.0u, N = 14.0u

° Watch Video Solution

4, Calculate the molecular masses of
K, [Fe(C’N)d

Given atomic masses C' = 12.0u, H = 1.0u


https://dl.doubtnut.com/l/_hIOAgFLUYQPs
https://dl.doubtnut.com/l/_OsNwsuKpdKtS
https://dl.doubtnut.com/l/_qrpWazVEZcjW

O = 16.0u, K = 39.0u, Mn = 55.0u

Fe = 56.0u, N = 14.0u

° Watch Video Solution

5. Calculate the formula mass of sodium
carbonate (NayCOs3). (Given : Atomic masses

:Na=23u,C=12u,0=16u)

° Watch Video Solution



https://dl.doubtnut.com/l/_qrpWazVEZcjW
https://dl.doubtnut.com/l/_g1g0VPvdESkK

6. Calculate the molecular mass of sulphuric
acid (H3S0,).
(Given : Atomic masses

H=15=32u, O = 16u).



https://dl.doubtnut.com/l/_60Qg3zPaYevV

° Watch Video Solution

7. Calculate the molar masses of the following:
Phosphorous molecule ( Py)
Atomic masses : C =12 u, H=1 u, S=32 u, Na = 23

u,P=31u,Cl=355u,N=14u,0=16u

o Watch Video Solution

8. Calculate the molar masses of the following:

Sodium chloride (NaCl)


https://dl.doubtnut.com/l/_60Qg3zPaYevV
https://dl.doubtnut.com/l/_DNkuvnwl3yZD
https://dl.doubtnut.com/l/_OcxGnx6GTcA8

Atomic masses : C =12 u, H=1 u, S=32 u, Na = 23

u,P=31u,Cl=355u,N=14u,0=16u

° Watch Video Solution

9. Calculate the molar masses of the following:
Nitric acid (HNO3)
Atomic masses : C =12 u, H=1 u, S=32 u, Na = 23

u,P=31u,Cl=355u,N=14u,0=16u

o Watch Video Solution



https://dl.doubtnut.com/l/_OcxGnx6GTcA8
https://dl.doubtnut.com/l/_CA3HEeCRdzmi

10. Calculate the molar masses of the
following:

Ethyne (CyH>)

Atomic masses : C =12 u, H=1 u, S=32 u, Na = 23

u,P=31u,Cl=355u,N=14u,0=16u

o Watch Video Solution

11. How many grams of magnesium will have

the same number of atoms as 6 grams of


https://dl.doubtnut.com/l/_rep4RTKseORx
https://dl.doubtnut.com/l/_Ga7lJBvpdC5E

carbon ?

(Mg = 24u, C' = 12u)

° Watch Video Solution

12. Calculate the number of moles in

12.044 x 10% atoms of phosphorus.

o Watch Video Solution

13. Which contains more moles, 4 g of

methane (CH,) or 4g of oxyen (O,) ?


https://dl.doubtnut.com/l/_Ga7lJBvpdC5E
https://dl.doubtnut.com/l/_LNdpOmeCtg1U
https://dl.doubtnut.com/l/_m5cOx6vxRC4X

(Atomic masses: C = 12u, H = 1, O = 16u)

o Watch Video Solution

14.In what ways, are the atoms §°0 and 3O

similar to each other

° Watch Video Solution

15.In what ways, are the atoms ;°0 and 'O

different from each other ?

o Watch Video Solution



https://dl.doubtnut.com/l/_m5cOx6vxRC4X
https://dl.doubtnut.com/l/_ZvTuNzFi4tbZ
https://dl.doubtnut.com/l/_vqaVqklEsN13

16. An oxide of an element Z has a formula
Z203.
How many electrons are there in the

outermost shell of an atom of element Z?

° Watch Video Solution

17. An oxide of an element Z has a formula
Z203.

Write down the formula for the chloride of Z

| e |


https://dl.doubtnut.com/l/_vqaVqklEsN13
https://dl.doubtnut.com/l/_e9T0siMWXwh4
https://dl.doubtnut.com/l/_57m5ofgs6ujf

& Wwatch Video Solution I

18. How is an a-particle different from a helium

atom?

o Watch Video Solution

19. If the number of electrons in an ion is 10
and the number of protons is 9, then

what would be the atomic number of the ion?

o Watch Video Solution



https://dl.doubtnut.com/l/_57m5ofgs6ujf
https://dl.doubtnut.com/l/_uhceCzmzxJAa
https://dl.doubtnut.com/l/_iukCzsE17WOU

20. If the number of electrons in an ion is 10
and the number of protons is 9, then

what is the charge on the ion?

o Watch Video Solution

21. An ion M?7T contains 10 electrons and 12
neutrons What is the atomic number and
mass number the element M? Name the

element.

° Watch Video Solution



https://dl.doubtnut.com/l/_ehz9oxWfY7wS
https://dl.doubtnut.com/l/_gwQ7TUKbPKYh

22. Most of the space in an atom is empty.

Justify.

o Watch Video Solution

23.The elements are identified by their atomic

numbers and not by their mass numbers.

Justify.

o Watch Video Solution



https://dl.doubtnut.com/l/_gwQ7TUKbPKYh
https://dl.doubtnut.com/l/_VdU2XZEF829M
https://dl.doubtnut.com/l/_I0PQHOrG9tg5
https://dl.doubtnut.com/l/_eMt6EBSg7VeZ

24, Differentiate between isotope and isobars.

o Watch Video Solution

25. Which of the two elements would be more
reactive, element A of atomic number 18 or

element B of atomic number 19?

o Watch Video Solution

26. The given diagrams show the atomic

structures of elements X and Y.


https://dl.doubtnut.com/l/_eMt6EBSg7VeZ
https://dl.doubtnut.com/l/_Zrp04PEALt5W
https://dl.doubtnut.com/l/_lkwLQjx7TZ4i

& FProton
oMeutron

What are the proton numbers of elements X

and Y?

o Watch Video Solution

27. The given diagrams show the atomic

structures of elements X and Y.


https://dl.doubtnut.com/l/_lkwLQjx7TZ4i
https://dl.doubtnut.com/l/_p5vjBnmCwAgH

& Proton
oMNeutron

What are the nucleon numbers of elements X

and Y?

o Watch Video Solution

28. The given diagrams show the atomic

structures of elements X and Y.


https://dl.doubtnut.com/l/_p5vjBnmCwAgH
https://dl.doubtnut.com/l/_VPC3u9rFuRSa

i
0 . LR ]

///,——\ oMNeutron

What are the electronic configurations of

elements X and Y?

o Watch Video Solution

29. The given diagrams show the atomic

structures of elements X and Y.


https://dl.doubtnut.com/l/_VPC3u9rFuRSa
https://dl.doubtnut.com/l/_OyPpL97ah0hC

w Froton
olNeutron [,‘—N—\
L]
R

What name is given to the pair of elements X

and Y? Explain.

o Watch Video Solution

30. Atoms of elements R, S and T have 8, 9 and
11 protons respectively. Neon has 10 protons.

What is the chemical formula of the


https://dl.doubtnut.com/l/_OyPpL97ah0hC
https://dl.doubtnut.com/l/_b9gWaeg2YvE9

compound formed between

(JRand T.(ii)Sand T

° Watch Video Solution

31. Atoms of elements R, S and T have 8, 9 and
11 protons respectively. Neon has 10 protons.

What is the formula of a molecule of R?

° Watch Video Solution

Solved Examples



https://dl.doubtnut.com/l/_b9gWaeg2YvE9
https://dl.doubtnut.com/l/_k9lJjeyUtk1s
https://dl.doubtnut.com/l/_SQC56Hu2ZvxJ

1. Calculate the number of moles in 162 g of Al,

o Watch Video Solution

2. Calculate the number of moles in 69 g of Na.

given : Atomic masses : Al=27.0 u, Na=23.0 u

o Watch Video Solution

3. Calculate the number of molecules in each

of the following :


https://dl.doubtnut.com/l/_SQC56Hu2ZvxJ
https://dl.doubtnut.com/l/_IjLHeE1AMnwK
https://dl.doubtnut.com/l/_ics1g7iEwvod

124 g of phosphorus

Given atomic masses : P=31u,C=12u,0 =16

o Watch Video Solution

4. Calculate the number of molecules in each
of the following :

11 g of CO,

Given atomic masses : P=31u,C=12u,0 =16

o Watch Video Solution



https://dl.doubtnut.com/l/_ics1g7iEwvod
https://dl.doubtnut.com/l/_zGi6bqdev1jk

5. Calculate the weight of carbon monoxide
having the same number of oxygen atoms as

are present in 22g of carbon dioxide

o Watch Video Solution

6. Calculate the number of atoms of each
element in 3.42 g of sucrose (C15H3,011) and

the total number of atoms.

o Watch Video Solution



https://dl.doubtnut.com/l/_zGi6bqdev1jk
https://dl.doubtnut.com/l/_EFa2Xy0Hbj9h
https://dl.doubtnut.com/l/_Fc7RLkeKyu2A

7. Calculate the mass of a single atom of

sulphur and a single molecule of carbon

dioxide?

o Watch Video Solution

8. Which has more number of atoms: 115 g of
sodium or 168 g of iron? (Given : atomic

masses Na =23 u, Fe =56 u)

o Watch Video Solution



https://dl.doubtnut.com/l/_LTWD4BAH3V9L
https://dl.doubtnut.com/l/_vhshCaflG9dM
https://dl.doubtnut.com/l/_bqjUx8l1Lekh

9. Calculate the number of gram atoms and
gram molecules in 2.54 mg of iodine (I) .

(Atomic mass of | =127 amu).

o Watch Video Solution

10. 10?2 atoms of an element 'X' are found to
have a mass of 531 mg. Calculate the molar

mass of the element X.

o Watch Video Solution



https://dl.doubtnut.com/l/_bqjUx8l1Lekh
https://dl.doubtnut.com/l/_23QcDHS35tbZ
https://dl.doubtnut.com/l/_BnUyJRjkBoNw

11. Elements from A to F have in them the
distribution of electrons, neutrons and

protons as follows:

| Atoms/ | Number of | Number of | Number
| Ions electrons neutrons | of protons
i A 4 10 3
B 10 12 11
L 17 18 17
D 17 20 17
E 15 22 18
E 19 21 19

Making use of these data, find

a pair of ions

° Watch Video Solution



https://dl.doubtnut.com/l/_BnUyJRjkBoNw

12. Elements from A to F have in them the
distribution of electrons, neutrons and

protons as follows:

| Atoms/ | Number of | Number of | Number

| Ions electrons neutrons | of protons
| A 4 10 3
I & 10 12 11
=i 17 18 17
D 17 20 17
E 18 22 18
L 19 o e

Making use of these data, find

an atom of a noble gas

° Watch Video Solution



https://dl.doubtnut.com/l/_GpMfbbUeB8Wy

13. Elements from A to F have in them the
distribution of electrons, neutrons and

protons as follows:

| Atoms/ | Number of | Number of | Number
Ions electrons neutrons | of protons
A 4 10 3
B 10 12 11
L 17 18 17
D 17 20 17
E 15 22 18
*F 19 21 19

Making use of these data, find

a pair of isobars

° Watch Video Solution



https://dl.doubtnut.com/l/_GENXz9n3pkRo

14. Elements from A to F have in them the
distribution of electrons, neutrons and

protons as follows:

Atoms/ | Number of | Number of | Number
Ions electrons neutrons | of protons
A 4 10 5
B 10 12 11
L 17 18 17
D 17 20 17
E 15 22 18
" F 19 21 19

Making use of these data, find

a pair of isotopes.

° Watch Video Solution



https://dl.doubtnut.com/l/_l3gLDboQET8T

15.Y is the ion of an element X. Y contains 13
protons, 14 neutrons and 10 electrons.

What is the nucleon number of Y?

o Watch Video Solution

16.Y is the ion of an element X. Y contains 13
protons, 14 neutrons and 10 electrons.
Give schematic representation to show how

the electrons are arranged in an atom of X.

o Watch Video Solution



https://dl.doubtnut.com/l/_jytguk5wWJQM
https://dl.doubtnut.com/l/_9yacjI8LemyO

17.Y is the ion of an element X. Y contains 13
protons, 14 neutrons and 10 electrons.
Predict the formula of the compound that

contains Y and the oxide ion.

o Watch Video Solution

Exercise Multiple Choice Questions

1. Which of the following have maximum mass?


https://dl.doubtnut.com/l/_9yacjI8LemyO
https://dl.doubtnut.com/l/_6jjs7QRGqEgh
https://dl.doubtnut.com/l/_eNjUJvHdwvGs

A.1g iron
B. 10%° molecdules of CO,

C.0.1 mole of NHj4

D. 10?2 atoms of carbon

Answer: C

o Watch Video Solution

2.0.001 g of C is required to write a letter with
a graphite pencil. The total number of C atoms

used in writing the letter is


https://dl.doubtnut.com/l/_eNjUJvHdwvGs
https://dl.doubtnut.com/l/_tkroGwQz1iPQ

A.5.00 x 102

B.5 x 10"

C.5.0 x 10%

D. 6.023 x 10%3

Answer: B

° Watch Video Solution

3. Which of the following would weigh the

highest?


https://dl.doubtnut.com/l/_tkroGwQz1iPQ
https://dl.doubtnut.com/l/_K7qMODegrpgu

A. 0.2 mol of sucrose (C19H,011)
B. 2 mol of CO,
C. 2 mol of CaCOs

D. 10 mol of H,O

Answer: C

o Watch Video Solution

4, Number of atoms in 560 g of

Fe (atomic mass 56 g mol ~ 1)


https://dl.doubtnut.com/l/_K7qMODegrpgu
https://dl.doubtnut.com/l/_tJIlVaRh2gYC

A.is twice that of 70 g N

B. is half that of 20 g H

C. both of these

D. none of these.

Answer: C

o Watch Video Solution

5. Which one of the following parts of gases

contains the same number of molecules?


https://dl.doubtnut.com/l/_tJIlVaRh2gYC
https://dl.doubtnut.com/l/_GrIKTfnKGkIt

A.16 g of Oy and 14g of N,

B.8 g of Oy and 22 of CO,

C.28 g of Ny and 22 g of C O,

D.32 g of Oy and 32 g of IV,

Answer: A

o Watch Video Solution

6. If 10°* molecules are removed from 200 mg
of CO,, the number of moles of CO, left will

be ?


https://dl.doubtnut.com/l/_GrIKTfnKGkIt
https://dl.doubtnut.com/l/_cApwGS5ZETse

A 2.88 x 1073

B.1.66 x 103

C.2.54 x 103

D.1.66 x 10 2

Answer: A

o Watch Video Solution

7.52 u of He contains

A. 4 % 6.022 x 10?3 atoms


https://dl.doubtnut.com/l/_cApwGS5ZETse
https://dl.doubtnut.com/l/_jZOteGcgVym3

B. 13 atoms

C.13 x 6.022 x 10%® atoms

D. 4 atoms

Answer: C

o Watch Video Solution

8. The number of gram atoms of oxygen

present in 0.25 mole of (COOH),2H,0 is

A.0.125


https://dl.doubtnut.com/l/_jZOteGcgVym3
https://dl.doubtnut.com/l/_b6YuYFBWTmVZ

B.0.50

C.1.0

D.1.5

Answer: D

o Watch Video Solution

9. The mass of 112 cm of O, gas at STPis

A.0.16g

B. 0.8¢g


https://dl.doubtnut.com/l/_b6YuYFBWTmVZ
https://dl.doubtnut.com/l/_tvOcPcqgOmfK

C.0.08¢g

D. 1.6g

Answer: A

o Watch Video Solution

10. A sample of phosphorus trichloride (PCls)
contains 14 moles of the substance. How

many atoms are there in the sample ?

A 4


https://dl.doubtnut.com/l/_tvOcPcqgOmfK
https://dl.doubtnut.com/l/_mURBFLrByLog

B.8.4 x 10?3

C.3.36 x 10%*

D. 5.6

Answer: C

o Watch Video Solution

1. The total number of electrons present in

18m L of water is ......

A 6.022 x 103


https://dl.doubtnut.com/l/_mURBFLrByLog
https://dl.doubtnut.com/l/_a67dZgilnG1v

B. 6.022 x 10%**

C.6.022 x 10%°

D. 6.022 x 10*!

Answer: B

o Watch Video Solution

12. The nhumber of water molecules present in

a drop of water weighing 0.018 g is

A. 6.022 x 1076


https://dl.doubtnut.com/l/_a67dZgilnG1v
https://dl.doubtnut.com/l/_GxqlyXxKBGXj

B. 6.022 x 10%3

C.6.022 x 10%°

D. 6.022 x 10"

Answer: C

o Watch Video Solution

13. The element whose one atom has mass of
10.86 x 10~ 2® kg is (Atomic masses : B = 10.8

u,Ca=40u,Ag =107.8 u,Zn = 65.4 u).


https://dl.doubtnut.com/l/_GxqlyXxKBGXj
https://dl.doubtnut.com/l/_SRTduhvtT88n

A. boron

B. coalcium

C.silver

D. zinc

Answer: D

o Watch Video Solution

14. What are the total number of moles of
atoms in 4.32 g of Sc(NO3)4 7

(Atomic weights: Sc =45.0, 0 =16.0, N = 14.01).


https://dl.doubtnut.com/l/_SRTduhvtT88n
https://dl.doubtnut.com/l/_FyeIsbaexYDl

A.0.0132

B.0.324

C. 0.0187

D.0.24

Answer: C

° Watch Video Solution

15. The total number of protons in 10g of

calcium carbonate is (NO = 6.023 X 1023)


https://dl.doubtnut.com/l/_FyeIsbaexYDl
https://dl.doubtnut.com/l/_sJJQKbR1NDoK

A.1.5057 x 10%*

B. 2.0478 x 10*

C.3.0115 x 10*

D. 4.0956 x 10%*

Answer: C

° Watch Video Solution

16. The number of molecules in 16 g of

methane is


https://dl.doubtnut.com/l/_sJJQKbR1NDoK
https://dl.doubtnut.com/l/_1JLAVFFsCkQV

A 3.01 x 10%
B. 6.022 x 10%®
C.16/6.022 x 107

D.16/3.0 x 10%

Answer: B

° Watch Video Solution

17. How many moles are present in 11.5 g of

sodium?


https://dl.doubtnut.com/l/_1JLAVFFsCkQV
https://dl.doubtnut.com/l/_5wHKNAllNYNL

A. 0.05 mole

B. 5.0 mole

C. 1.5 mole

D. 0.5 mole

Answer: D

° Watch Video Solution

18. Number of electrons present in 3.6 mg of

NH;r are : (NA =6 X 1023)


https://dl.doubtnut.com/l/_5wHKNAllNYNL
https://dl.doubtnut.com/l/_7Hl3lHroPqmu

A 1.2 x 10%

B.1.2 x 10%

C.1.2 x 10%2

D.2 x 103

Answer: A

o Watch Video Solution

19. A quantity of aluminium has a mass of 54 g.
What is the mass of same number of

magnesium atoms?


https://dl.doubtnut.com/l/_7Hl3lHroPqmu
https://dl.doubtnut.com/l/_Go1atoB5TCi7

A 12.1g

B. 24.3¢g

C.48.6¢g

D. 97.2g

Answer: C

° Watch Video Solution

20. Number of atoms of oxygen present in 10.6

g of Nay,C'O3 will be


https://dl.doubtnut.com/l/_Go1atoB5TCi7
https://dl.doubtnut.com/l/_1Jj6C6Z7VvWN

A. 6.02 x 10%2

B.12.04 x 10?2

C.1.806 x 10%°

D. 31.80 x 10%8

Answer: C

° Watch Video Solution

21. 2 g of oxygen contain same number of

atoms as contained by


https://dl.doubtnut.com/l/_1Jj6C6Z7VvWN
https://dl.doubtnut.com/l/_NoxZu8cTo4h0

A.0.5 g hydrogen

B.4.0 g sulphur

C. 7.0 g nitrogen

D. 2.3 g sodium

Answer: B

° Watch Video Solution

22. The largest number of N-atoms are found

in


https://dl.doubtnut.com/l/_NoxZu8cTo4h0
https://dl.doubtnut.com/l/_vJtWy3qZmTT8

A.50 g NO,

B.150 mL of liquid pyridine (C5H5N
density = 0.983 g/mL)

C.25 g of N,O

D. 0.5 mol of IV,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vJtWy3qZmTT8

23. How many molecules are present in 3

moles of ethane?

A 11 x 6.022 x 10

B.3

C.3 x 6.022 x 10%*

D.3 x 8 x £6.022 x 10%°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XKt5hOGQXPNX
https://dl.doubtnut.com/l/_dZpX1iWnt2TK

24. Which of the following has greatest

number of atoms?

A.1g of butane (CyHy)
B. 1 g of nitrogen (V)
C.1 g of silver (Ag)

D. 1 g of water (H,0)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dZpX1iWnt2TK

25. 1 kg mole of oxygen (O;) has ..
electrons.

A. 6.022 x 107

B. 16.022 x 1026

C.16.022 x 10%

D. 16.022 x 10%

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tTeblqwnKIGG
https://dl.doubtnut.com/l/_tHVjhW4ydbQ0

26. One mole of hydrogen peroxide (H50>)

has a mass same as that of

A. 0.2 mol of sucrose (C13H2011)
B. 2.0 mol of ammonia
C.11.2 Lof SO, at N.T.P.

D. 0.1 mol of SO;4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tHVjhW4ydbQ0

27.1 g atom of nitrogen represents

A.14 g nitrogen
B. 11.2 litre of N, at NTP
C. 224 litre of N, at NTP

D.6.022 x 10%* molecules of N,

Answer: A, B

o Watch Video Solution



https://dl.doubtnut.com/l/_g3kURfyIOpRJ

28. How many gram atoms of oxygen are

contained in 0.25 mole of NayS,03.5H5,0

(hypo)?

A.0.5

B.0.75

C.2.0

D.1.20

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Gi5FGpSGnWlE

29. A sample of AIF; contains 3.0 x 10** F
ions. The number of formula units of the
sample are

A. 2.0 x 10*

B.1.0 x 10**

C.5 x 10%°

D.9.0 x 10%.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tMS40DF1kRI6

30. What is the total number of atoms present

in 25.0 mg of camphor, C1gH1507?

A 2.57 x 10*!

B.9.89 x 10"

C.2.67 x 10*

D. 6.02 x 10%°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_3KnjSDBWcjdq
https://dl.doubtnut.com/l/_JDJJYVrutwEB

31. The ion of an element has 3 positive

charges. Mass number of the atom is 27 and

the number of neutrons is 14. What is the

number of electrons in the ion?

A. 13

B.10

C.14

D. 16

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JDJJYVrutwEB

32. The isoelectronic species are
1. Na™ 2. AT
3. Mg>™" 4. Ca®*

A.12 and 3

B.1,3 and 4

C.1,2and 4

D.1,2,3 and 4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JDJJYVrutwEB
https://dl.doubtnut.com/l/_73uoLhX9boos

33. Which one of the following is a correct

electronic configuration of sodium?

A .28

B. 8,2,1

C.2,8

D. 2,8,1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_73uoLhX9boos
https://dl.doubtnut.com/l/_eFxPAtODQbLR

34. Electron was discovered by

A.].J. Thomson

B. Dalton

C. Niels Bohr

D. none of these.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cO3W58rdZMwF

35. Which of the following elements does not

form isotopes?

A. Carbon

B. Neon

C. Chlorine

D. lodine

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_thHaykG7xQFM
https://dl.doubtnut.com/l/_lA7juhZ22yFQ

36. Pick out the isobar pair.
A.1H,?H
B.13Cl, 1'N
C.%C1, 3T Cl

D. ‘ngr, 380’0,

Answer: D

° Watch Video Solution

37. Common hydrogen is also called


https://dl.doubtnut.com/l/_lA7juhZ22yFQ
https://dl.doubtnut.com/l/_OOefiUQFzoQz

A. protium atom

B. deuterium atom

C. tritium atom

D. none of these.

Answer: A

o Watch Video Solution

38. Deuterium and tritium are the isotopes of

A. nitrogen


https://dl.doubtnut.com/l/_OOefiUQFzoQz
https://dl.doubtnut.com/l/_vVkcqDao0Zoc

B. oxygen

C. hydrogen

D. helium

Answer: C

o Watch Video Solution

39. The atomic number of an element X is 19.

The number of electrons in its ion X * will be

A.18


https://dl.doubtnut.com/l/_vVkcqDao0Zoc
https://dl.doubtnut.com/l/_xf0Kz8oqdFlD

B.19

C. 20

D. 21

Answer: A

o Watch Video Solution

40. Rutherfords experiments , which
established the nuclear model of atom , used a

beam of:-


https://dl.doubtnut.com/l/_xf0Kz8oqdFlD
https://dl.doubtnut.com/l/_bMxluTjnnjUl

A. B-particles, impinged on a metal foil and

got absorbed.

B. « rays, which impinged on a metal foil

and ejected electrons.

C. Helium atom, impinged on a metal foil

and got scattered

D. Helium nuclei, impinged on a metal foll

and got scattered.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bMxluTjnnjUl

41. If there are 12 neutrons in an atom and its

atomic number is 11, then how many electrons

are present in it?

A. 23

B. 12

C.10

D. 11

Answer: D

I a Watch Video Solution


https://dl.doubtnut.com/l/_bMxluTjnnjUl
https://dl.doubtnut.com/l/_pGuhsrT0lLRd

42. Which of the following species does not

have electrons equal to 18?

AKT

B.Cl™

C.Ca’t

D.K

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pGuhsrT0lLRd
https://dl.doubtnut.com/l/_jRa0PgsayG3D

43. An atom of an element (X) has its K, L and
M shells filled with some electrons. It reacts
with sodium metal to form a compound Nax.
The number of electrons in the M shell of an
atom of element (X) will be

A.7

B.8

C.2

D. 1


https://dl.doubtnut.com/l/_jRa0PgsayG3D
https://dl.doubtnut.com/l/_fIOBeUv1sATH

Answer: A

o Watch Video Solution

44.X and Y are the two atomic species :

. & ¥
Number of Proton | 8 8
Number of Neutron | 8 ' 10

Select the correct statement about X and Y.

A.X and Y are isobars.

B.X and Y have different chemical

properties.


https://dl.doubtnut.com/l/_fIOBeUv1sATH
https://dl.doubtnut.com/l/_FBKdzDzFeZGd

C.X and Y have different physical

properties.

D.X and Y are the atoms of different

elements.

Answer: C

o Watch Video Solution

45. Number of which among the following is

samein AT and F~ ?


https://dl.doubtnut.com/l/_FBKdzDzFeZGd
https://dl.doubtnut.com/l/_Pyxo46oGAPox

A. Proton

B. Neutron

C. Atomic mass

D. Electron

Answer: D

o Watch Video Solution

46. The number of protons, neutrons and
electrons in four elements 1, 2, 3 and 4 are as

follows:


https://dl.doubtnut.com/l/_Pyxo46oGAPox
https://dl.doubtnut.com/l/_h35bSK95QEDc

Mp=6,n=6,e=6

2Q)p=6,n=7,e=6

3)p=18,n=22,e=18

(4)p=19,n=21,e=19

In these

A.element 1 and 2 are isotopes and

element 3 and 4 are isobars

B.element 1 and 2 are isotopes but

element 3 and 4 are not isobars

C. element 1 and 2 are isobars and element

3 and 4 are isotopes


https://dl.doubtnut.com/l/_h35bSK95QEDc

D. element 1 and 2 are isobars but element

3 and 4 are not isotopes.

Answer: A

o Watch Video Solution

47. An ion having a mass number 52 has 3
units of positive charge. The number of
neutrons in the ion exceeds the number of
electrons in it by 7. The atomic number of the

element is


https://dl.doubtnut.com/l/_h35bSK95QEDc
https://dl.doubtnut.com/l/_xmtDGszYig4s

A. 28

B. 22

C. 26

D. 24

Answer: D

o Watch Video Solution

48. Which of the following statements are
correct about a (alpha) particle scattering

experiment?


https://dl.doubtnut.com/l/_xmtDGszYig4s
https://dl.doubtnut.com/l/_NVNipXzvORtR

(i) Most of the fast moving a-particles passed
straight through gold foil.
(i) Some of a-particles were deflected by the
foil by small angles.
(iii) Surprisingly one out of every 10 particles
appeared to rebound

A. (i) and (iii) are correct.

B. (i) and (ii) are correct.

C. (i), (ii) and (iii) are correct.

D. only (ii) is correct.

Answer: B


https://dl.doubtnut.com/l/_NVNipXzvORtR

° View Text Solution

49, Adding an alpha particle to the nucleus of

sodium atom produces which new element?

A. Mg

B.P

C. Al

D. Ne

Answer: C

| 8 l


https://dl.doubtnut.com/l/_NVNipXzvORtR
https://dl.doubtnut.com/l/_59twHuY99prC

50. The formula of phosphate of X is X PO,.
The formula of it's sulphate and chloride
would be respectively

A X5(504),. XCly

B. X50,, XCl,

C. X(804)4, X-Cl

D. X250, XCl

Answer: A

[ 1


https://dl.doubtnut.com/l/_59twHuY99prC
https://dl.doubtnut.com/l/_E67KqKZXFwzz

I D Watch Video Solution

Exercise Match The Following

1. Match the following columns
List-I List-II
(Compound) (Ratio by weight

of atoms)

(P) Water . 14:3
(Q) Ammonia 2. 1:8
(R) Carbon dioxide 3. 1:1
(S} Sulphur dioxide 4 3:8

A.P-2, Q-1,R-4,S-3

B. P-2, Q-4,R-1,5-3


https://dl.doubtnut.com/l/_E67KqKZXFwzz
https://dl.doubtnut.com/l/_bxOduIA0F6kn

C.P-4,Q-2,R-1,S-3

D. P-4, 2-2, R-3, S-1

Answer: A

° Watch Video Solution

2. Match the following columns
List-I List-11
(P) Phosphate 1. 505
(Q) Sulphite 2. m‘-}‘
(R) Sulphate 3. POy

-

(5) Carbonate 4. CO5


https://dl.doubtnut.com/l/_bxOduIA0F6kn
https://dl.doubtnut.com/l/_1zeWBF1a2oRX

A. P-3,Q-1,R-4,S-2

B. P-3, Q-1, R-2, S-4

C.P-1,0-3,R-2,54

D.P-1,Q-3, R4, S-2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1zeWBF1a2oRX

3. Match the following columns

List-1 List-11
(Compound) (Molecular mass)
(P HO 1. 585
(Q) HNO, 2. 111
(R) NaCl 3. 18
(5) CaCl, 1. 63

A.P-4,0-3,R-1,5-2

B. P-3, 0-4,R-1,5-2

C.P-1,0Q-2,R-4,S-3

D. P-1,0-2, R-3, S-2



https://dl.doubtnut.com/l/_14nqGhr4EuCW

{ ™ vvaldn viaco o50I1ution |

4, Match the following columns
List-1 List-11
(") Molar volume 1. 6022 =107
(Q) Molecular wt. of HNO, 2. Diatomic
(R) Avogadro's number 3. 22400 em’
(5) Nitrogen element 4. 63

A.P-3,Q-1,R-4,S-2

B. P-3, Q-4,R-1,5-2

C.P-4,0-3,R-2, S-1

D. P-4, 2-2, R-3, S-1


https://dl.doubtnut.com/l/_14nqGhr4EuCW
https://dl.doubtnut.com/l/_1JLZ8y01iFII

Answer: B

o Watch Video Solution

5.  Match the following

List-I List-I1
(P) 0.25 mole oxygen 1. 6.022x 10 molecules
(Q) 18 g water 2. 1.505x 105 molecules
(R) 46 g Na 3. 6.022 = 107 atoms
(S) 1 mole C 4. 12.044 = 10™ atoms

A.P-3,Q-1,R-4,S-2
B. P-2, Q-1, R-4,5-3

C.P-4,0Q-1,R-3, S-2

columns


https://dl.doubtnut.com/l/_1JLZ8y01iFII
https://dl.doubtnut.com/l/_hjl7Ved1atWD

D. P-2, Q-1,R-3,S5-4

Answer: B

o Watch Video Solution

6. Match the following

List-1 List-11
(Shell) {(Maximum no. of
electrons)
(M K . 2
Q) N 2. 8
(R) M 3. 18
(5) L 4 32

A.P-1,0Q-3,R-4,S-2

columns


https://dl.doubtnut.com/l/_hjl7Ved1atWD
https://dl.doubtnut.com/l/_UxV6mFP67WZc

B. P-1,Q-4,R-3,S-2

C.P-4,Q-3,R-2, 51

D. P-3,0-4, R-2, S-1

Answer: B

o Watch Video Solution

Exercise Assertion Reason Type

1. Assertion : Number of gram-molecules of

SO5Cl, in 13.5 g of sulphuryl chloride is 0.2.


https://dl.doubtnut.com/l/_UxV6mFP67WZc
https://dl.doubtnut.com/l/_RmNvoklmH3Qt

Reason : Gram-molecular mass of SO,Cl, is

125 g.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.


https://dl.doubtnut.com/l/_RmNvoklmH3Qt

Answer: B

o View Text Solution

2. Assertion : Atomicity of Oj is 3.

Reason : 1 mole of an element contains

6.022 x 10?® atoms.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.


https://dl.doubtnut.com/l/_RmNvoklmH3Qt
https://dl.doubtnut.com/l/_ztNiig4EB6kR

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ztNiig4EB6kR

3. Assertion : Molecular weight of SO, is
double to that of O,
Reason : One mole of SO, contains double

the number of molecules present in one mole

of 02

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_hlGJiUOgcVmD

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

o Watch Video Solution

4. Assertion : Atomic mass of aluminium is 27.
Reason : An atom of aluminium is 27 times
heavier than 1/12th of the mass of carbon-12

atom.


https://dl.doubtnut.com/l/_hlGJiUOgcVmD
https://dl.doubtnut.com/l/_EYzhw78aMNRj

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_EYzhw78aMNRj

5. Assertion : 1 mole of H,50, contains same
mass of oxygen and sulphur.

Reason : 1 mole of Hy50, represents 49 g

Mmass.

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_EYzhw78aMNRj
https://dl.doubtnut.com/l/_miGZuS4EeKmr

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o Watch Video Solution

6. Assertion : Number of moles of H, in
0.0224L of H, is 0.01 mol.
Reason : 224 litres of H, at STP contains

6.022 x 10%® mol.


https://dl.doubtnut.com/l/_miGZuS4EeKmr
https://dl.doubtnut.com/l/_iIOvzDbA6r8P

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_iIOvzDbA6r8P

7. Assertion : 1 amu equals to 1.66 x 10~ %g.
1.66 x 10~ **g equal to 1/12 the mass of a'*C
atom.

A.If both assertion and reason are true
and reason is the correct explanation of
assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.


https://dl.doubtnut.com/l/_iIOvzDbA6r8P
https://dl.doubtnut.com/l/_d4b2G5pTv5Qz

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

o View Text Solution

8. Assertion : 1 g 02 and 1 g O3 have different

number of atoms.

Reason : Mass of 1 mole atom is equal to its

gram-atomic mass.


https://dl.doubtnut.com/l/_d4b2G5pTv5Qz
https://dl.doubtnut.com/l/_CQzuwGoEOVUE

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_CQzuwGoEOVUE

9. Assertion : Atoms can neither be created

nor destroyed.
Reason : Atoms of the same element always
have the same atomic masses.
A.If both assertion and reason are true
and reason is the correct explanation of
assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of


https://dl.doubtnut.com/l/_CQzuwGoEOVUE
https://dl.doubtnut.com/l/_KxiwYHMWLmu9

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: D

o View Text Solution

10. Assertion : Isobars are identical in chemical
properties.

Reason : Isobars have different mass number.


https://dl.doubtnut.com/l/_KxiwYHMWLmu9
https://dl.doubtnut.com/l/_3PeGNDTakcJT

A.If both assertion and reason are true

and reason is the correct explanation of

assertion.

B. If both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. If assertion is true but reason is false.

D. If both assertion and reason are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3PeGNDTakcJT

Exercise Comprehension Type Passage |

1. The percentage composition of elements in

a compound is calculated from the molecular
formula of the compound. The molecular mass
of a compound is calculated from the atomic
masses of the various elements present in the
compound. The percentage of mass of each
element is then calculated with the help of the
following relation. Percentage mass of the

element in the compound.


https://dl.doubtnut.com/l/_3PeGNDTakcJT
https://dl.doubtnut.com/l/_swMkuEIbqwY4

Mass of the element

Mass of the compound

What is the percentage of calcium in calcium

carbonate?

A. 32.65

B.40

C.88.9

D. 18

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_swMkuEIbqwY4
https://dl.doubtnut.com/l/_pHjzuQYl6H0H

2. The percentage composition of elements in
a compound is calculated from the molecular
formula of the compound. The molecular mass
of a compound is calculated from the atomic
masses of the various elements present in the
compound. The percentage of mass of each
element is then calculated with the help of the
following relation. Percentage mass of the

element in the compound.

Mass of the element

Mass of the compound

Calculate the mass of carbon present in 2 g of

carbon dioxide.


https://dl.doubtnut.com/l/_pHjzuQYl6H0H

A 12g

B.6g

C.0.545¢

D. 5.45¢g

Answer: B

o Watch Video Solution

3. The percentage composition of elements in
a compound is calculated from the molecular

formula of the compound. The molecular mass


https://dl.doubtnut.com/l/_pHjzuQYl6H0H
https://dl.doubtnut.com/l/_CRMQtXGIKmPQ

of a compound is calculated from the atomic
masses of the various elements present in the
compound. The percentage of mass of each
element is then calculated with the help of the
following relation. Percentage mass of the

element in the compound.

Mass of the element

Mass of the compound

What is the molecular mass of calcium

chloride?

A. 88 u

B.1u

C.65u


https://dl.doubtnut.com/l/_CRMQtXGIKmPQ

D. 100 u

Answer: B

o Watch Video Solution

4. The percentage composition of elements in
a compound is calculated from the molecular
formula of the compound. The molecular mass
of a compound is calculated from the atomic
masses of the various elements present in the

compound. The percentage of mass of each


https://dl.doubtnut.com/l/_CRMQtXGIKmPQ
https://dl.doubtnut.com/l/_1NJ8EqF1vY7x

element is then calculated with the help of the
following relation. Percentage mass of the

element in the compound.

Mass of the element

Mass of the compound

Percentage of S in aluminium sulphate is

A. 28

B. 56

C.65

D.75

Answer: A

| €8


https://dl.doubtnut.com/l/_1NJ8EqF1vY7x

| ¥ Watch Video Solution J

Exercise Comprehension Type Passage li

1. In chemistry, 'mole' is an essential tool for
the chemical calculations. It is a basic SI unit
adopted by the 14" general conference on
weights and measurements in 1971. A mole
contains as many elementary particles as the
number of atoms present in 12 g of 2C .1
mole of a gas at STP occupies 224 litre

volume. Molar volume of solids and liquids is


https://dl.doubtnut.com/l/_1NJ8EqF1vY7x
https://dl.doubtnut.com/l/_lMWgmA53YRQe

not definite. Molar mass of a substance is also
called gram-atomic mass or gram molecular
mass. The virtual meaning of mole is plenty,
heap or the collection of large numbers. 1
mole of a substance contains 6.022 x 10%°
elementary particles like atom or molecule.
Atomic mass unit (amu) is the unit of atomic
mass, e.g., atomic mass of single carbon is 12
amu.

The mass of one molecule of water is

approximately

Alg


https://dl.doubtnut.com/l/_lMWgmA53YRQe

B. 0.5g
C.1.66 x 10 **g

D.3.0 x 10 %3¢

Answer: D

o Watch Video Solution

2. In chemistry, 'mole' is an essential tool for
the chemical calculations. It is a basic SI unit
adopted by the 14t general conference on

weights and measurements in 1971. A mole


https://dl.doubtnut.com/l/_lMWgmA53YRQe
https://dl.doubtnut.com/l/_wrEmx3aTGdDg

contains as many elementary particles as the
number of atoms present in 12 g of 2C . 1
mole of a gas at STP occupies 224 litre
volume. Molar volume of solids and liquids is
not definite. Molar mass of a substance is also
called gram-atomic mass or gram molecular
mass. The virtual meaning of mole is plenty,
heap or the collection of large numbers. 1
mole of a substance contains 6.022 x 10%
elementary particles like atom or molecule.
Atomic mass unit (amu) is the unit of atomic
mass, e.g., atomic mass of single carbon is 12

amu.


https://dl.doubtnut.com/l/_wrEmx3aTGdDg

How many atoms are present in 49 g of

Hy,50,47

A7 x 6.022210%°

B.5 x 6.022 x 10?3

C.6 x 6.022 x23

D.7 x 3.01 x 10%

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wrEmx3aTGdDg

3. In chemistry, 'mole’ is an essential tool for
the chemical calculations. It is a basic SI unit
adopted by the 14t general conference on
weights and measurements in 1971. A mole
contains as many elementary particles as the
number of atoms present in 12 g of *C .1
mole of a gas at STP occupies 224 litre
volume. Molar volume of solids and liquids is
not definite. Molar mass of a substance is also
called gram-atomic mass or gram molecular
mass. The virtual meaning of mole is plenty,

heap or the collection of large numbers. 1


https://dl.doubtnut.com/l/_ol6FaVwntci4

mole of a substance contains 6.022 x 10%
elementary particles like atom or molecule.
Atomic mass unit (amu) is the unit of atomic
mass, e.g., atomic mass of single carbon is 12
amu.

XL N, , gas at STP contains 3 x 10?2
molecules. The number of molecules in x L

ozone at STP will be

A 3 x 10%2
B.4 x 10?3

C.6.02 x 10%°


https://dl.doubtnut.com/l/_ol6FaVwntci4

D.3 x 10%*

Answer: A

o Watch Video Solution

4. In chemistry, 'mole' is an essential tool for
the chemical calculations. It is a basic SI unit
adopted by the 14 general conference on
weights and measurements in 1971. A mole
contains as many elementary particles as the

number of atoms present in 12 g of 2C .1


https://dl.doubtnut.com/l/_ol6FaVwntci4
https://dl.doubtnut.com/l/_oNM2J3qK2OAW

mole of a gas at STP occupies 224 litre
volume. Molar volume of solids and liquids is
not definite. Molar mass of a substance is also
called gram-atomic mass or gram molecular
mass. The virtual meaning of mole is plenty,
heap or the collection of large numbers. 1
mole of a substance contains 6.022 x 10*
elementary particles like atom or molecule.
Atomic mass unit (amu) is the unit of atomic
mass, e.g., atomic mass of single carbon is 12
amu.

The mass of 1 amu is approximately


https://dl.doubtnut.com/l/_oNM2J3qK2OAW

Alg
B.0.5g
C.1.66 x 10~ %4g

D.3.2 x 10~ #g¢

Answer: C

° Watch Video Solution

Exercise Comprehension Type Passage lii


https://dl.doubtnut.com/l/_oNM2J3qK2OAW

1. According to Dalton's atomic theory, all
matter whether an element, a compound or a
mixture is composed of small particles called
atoms which can neither be created nor
destroyed during a chemical reaction. Dalton's
theory provides a simple explanation for the
laws of chemical combination. He used his
theory to explain law of conservation of
masses, law of constant proportions and law
of multiple proportions, based on various
postulates of the theory. Dalton was the first

scientist to use the symbols for the elements


https://dl.doubtnut.com/l/_PsJCO5RtRKl1

in a very specific sense. When he used a
symbol for an element he also meant a
definite quantity of that element, that is one
atom of that element.

Which postulate of Dalton's atomic theory is

the result of the law of conservation of mass?

A. Atoms can neither be created nor

destroyed.

B. Each element is composed of extremely

small particles called atoms.


https://dl.doubtnut.com/l/_PsJCO5RtRKl1

C.All the atoms of a given element are
identical.

D. During chemical combination, atoms of
different elements combine in simple

ratios.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PsJCO5RtRKl1

2. According to Dalton's atomic theory, all
matter whether an element, a compound or a
mixture is composed of small particles called
atoms which can neither be created nor
destroyed during a chemical reaction. Dalton's
theory provides a simple explanation for the
laws of chemical combination. He used his
theory to explain law of conservation of
masses, law of constant proportions and law
of multiple proportions, based on various
postulates of the theory. Dalton was the first

scientist to use the symbols for the elements


https://dl.doubtnut.com/l/_3LKNl5axHVKD

in a very specific sense. When he used a
symbol for an element he also meant a
definite quantity of that element, that is one
atom of that element.
Which postulate of Dalton's atomic theory
explains law of definite proportions?

A. Atoms of an element do not change

during a chemical reaction.
B. The elements consist of atoms having

fixed mass and the number and kind of

atoms in a given compound is fixed.


https://dl.doubtnut.com/l/_3LKNl5axHVKD

C. Different elements have different kind of

atoms.

D. Atoms are of various kinds.

Answer: B

o Watch Video Solution

3. According to Dalton's atomic theory, all
matter whether an element, a compound or a
mixture is composed of small particles called

atoms which can neither be created nor


https://dl.doubtnut.com/l/_3LKNl5axHVKD
https://dl.doubtnut.com/l/_o1VRPVHk5m7u

destroyed during a chemical reaction. Dalton's
theory provides a simple explanation for the
laws of chemical combination. He used his
theory to explain law of conservation of
masses, law of constant proportions and law
of multiple proportions, based on various
postulates of the theory. Dalton was the first
scientist to use the symbols for the elements
in a very specific sense. When he used a
symbol for an element he also meant a
definite quantity of that element, that is one
atom of that element.

When 5 g calcium is burnt in 2 g oxygen, 7 g of


https://dl.doubtnut.com/l/_o1VRPVHk5m7u

calcium oxide is produced. When 5 g of

calcium is burnt in 20 g of oxygen, then also 7

g of calcium oxide is produced. Which law of

chemical combination is being followed?

A. Law of conservation of mass

B. Law of multiple proportions

C. Law of constant proportions

D. No law is being followed

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_o1VRPVHk5m7u

Exercise Comprehension Type Passage Iv

1.PASS AGE-lV:The molecular mass of a

substance is the relative mass of its molecule
as compared with the mass of a carbon-12
atom taken as 12 units. The molecular mass of
a substance indicates the number of times
one molecule of a substance is heavier than
ED) of C-12 atom. It is equal to the sum of

atomic masses of all the atoms present in a

molecule. Depending on the number of atoms


https://dl.doubtnut.com/l/_o1VRPVHk5m7u
https://dl.doubtnut.com/l/_GpuPAkfOWcUt

of same or different elements present in the
molecule, it can be monoatomic, diatomic,
triatomic, tetratomic or a polyatomic
molecule.

Which is an example of a polyatomic

molecule?

A. Sg

B. HNO;

C.CLH,OH

D. All of these

Answer: A


https://dl.doubtnut.com/l/_GpuPAkfOWcUt

° Watch Video Solution

2. The molecular mass of a substance is the
relative mass of its molecule as compared with
the mass of a carbon-12 atom taken as 12
units. The molecular mass of a substance
indicates the number of times one molecule of
a substance is heavier than 1—12 th of C-12
atom. It is equal to the sum of atomic masses
of all the atoms present in a molecule.
Depending on the number of atoms of same

or different elements present in the molecule,


https://dl.doubtnut.com/l/_GpuPAkfOWcUt
https://dl.doubtnut.com/l/_iWo31KKX9R0a

it can be monoatomic, diatomic, triatomic,
tetraatomic or a poly-atomic molecule.
Carbon dioxide, hydrogen sulphide, calcium
chloride and sodium oxide are examples of

A. monoatomic

B. diatomic

C. triatomic

D. tetra-atomic

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iWo31KKX9R0a

3. The molecular mass of a substance is the
relative mass of its molecule as compared with
the mass of a carbon-12 atom taken as 12
units. The molecular mass of a substance
indicates the number of times one molecule of
a substance is heavier than % th of C-12
atom. It is equal to the sum of atomic masses
of all the atoms present in a molecule.
Depending on the number of atoms of same

or different elements present in the molecule,


https://dl.doubtnut.com/l/_iWo31KKX9R0a
https://dl.doubtnut.com/l/_Ce2PzKaTba8I

it can be monoatomic, diatomic, triatomic,

tetraatomic or a poly-atomic molecule.

A. triatomic molecules

B. triatomic and tetra-atomic molecules

C. diatomic and triatomic molecules

D. tetra-atomic molecules.

Answer: A

° View Text Solution

Exercise Integer Numerical Value Type


https://dl.doubtnut.com/l/_Ce2PzKaTba8I

1. Mass of COy (in gram) which have 2.55 L

volume at S.T.P. is

° Watch Video Solution

2. Number of diatomic molecules among the
following is hydrogen molecule, ozone, water,
carbon dioxide, sulphur dioxide, carbon
monoxide, hydrogen chloride, oxygen

molecule, sodium chloride.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_gS5ldpCXG91l
https://dl.doubtnut.com/l/_iXfwSqThYrdC

3. The total number of molecules present in

6.6 g of CO5 and 4.8 g of SO is

o Watch Video Solution

4. The valency of an element with atomic

number 15 is

° Watch Video Solution



https://dl.doubtnut.com/l/_iXfwSqThYrdC
https://dl.doubtnut.com/l/_eIMANL3EYri7
https://dl.doubtnut.com/l/_g4DelT6F2bnn

5.The total number of electrons present in the

M-shell of sulphur is

o Watch Video Solution



https://dl.doubtnut.com/l/_78k8wspdml1K

